
Vzorce integrály 

∫ 𝑘 𝑑𝑥 = 𝑘 ∗ 𝑥 + 𝑐 

∫ 𝑥𝑎  𝑑𝑥 =  
𝑥𝑎+1

𝑎 + 1
+ 𝑐  (𝑘𝑑𝑒 𝑎 ≠ −1) 

∫
1

𝑥
 𝑑𝑥 = 𝑙𝑛|𝑥| + 𝑐 

∫ 𝑒𝑥 𝑑𝑥 = 𝑒𝑥 + 𝑐 

∫ 𝑎𝑥  𝑑𝑥 =
𝑎𝑥

𝑙𝑛𝑎
+ 𝑐 

∫ 𝑠𝑖𝑛𝑥 𝑑𝑥 = −𝑐𝑜𝑠𝑥 + 𝑐 

∫ 𝑐𝑜𝑠𝑥 𝑑𝑥 = 𝑠𝑖𝑛𝑥 + 𝑐 

∫
1

𝑐𝑜𝑠2𝑥
 𝑑𝑥 = 𝑡𝑔𝑥 + 𝑐 

∫
1

𝑠𝑖𝑛2𝑥
 𝑑𝑥 = −𝑐𝑜𝑡𝑔𝑥 + 𝑐 

∫
1

1 + 𝑥2
 𝑑𝑥 = 𝑎𝑟𝑐𝑡𝑔𝑥 + 𝑐 

∫
1

√1 − 𝑥2 
 𝑑𝑥 = 𝑎𝑟𝑐𝑠𝑖𝑛𝑥 + 𝑐

∫ 𝑘 ∗ 𝑓 = 𝑘 ∗ ∫ 𝑓  ∫ 𝑓 ± 𝑔 =  ∫ 𝑓 ± ∫ 𝑔  

 

Per partes 

∫ 𝑓 ∗ 𝑔´ = 𝑓 ∗ 𝑔 − ∫ 𝑓´ ∗ 𝑔 

Substituce 

∫ 𝑓(𝑔) ∗ 𝑔´ 𝑑𝑥 = ∫ 𝑓(𝑦) 𝑑𝑦 = 𝐹(𝑦) + 𝑐 = 𝐹(𝑔) + 𝑐 

 

Další speciální vzorce 

∫
𝑓´(𝑥)

𝑓(𝑥)
𝑑𝑥 = 𝑙𝑛|𝑓| + 𝑐 

∫ 𝑓(𝑎𝑥 + 𝑏)𝑑𝑥 =
1

𝑎
𝐹(𝑎𝑥 + 𝑏) + 𝑐 

∫ 𝑓(𝑥) ∗ 𝑓´(𝑥)𝑑𝑥 =
1

2
𝑓2(𝑥) + 𝑐 

∫
1

𝑥2 + 𝑎
 𝑑𝑥 =

1

√𝑎
𝑎𝑟𝑐𝑡𝑔

𝑥

√𝑎
+ 𝑐 


